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Seating Arrangement Questions Overview

Seating Arrangement Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Seating Arrangement Questions.

Seating Arrangement Questions

Direction: Read the given information carefully and answer the following questions. Eight persons A, B, C, D, E, F, G, and
H are sitting around a circular table but not necessarily in the same order. All of them are facing toward the center of the
table. F sits third to the left of B. C sits second to the right of D. G sits opposite E, who is an immediate neighbor of B and
C. A does not sit opposite to C.

Question

How many people sit between D and E when counted from the left of D?

Difficulty : Moderate Average Time: 53 Seconds

Options :
1. None

2. One
3. Two
4. Three

5. Four

Solution

The correct answer is Option 5 i.e. Four

Decoding the

| Corresponding Inference
puzzle
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1) C sits
second to
the right of
D.

2) G sits
opposite to
the E, who is
an
immediate
neighbour of
B and C.

3) F sits third
to the left of
B.

4) A does
not sit
opposite to
C.

Four people are sitting
between D and E.

Hence, the correct answer is
Four.
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